

## Nearly Zero Boolean Idempotent Matrices\*

Jin Bai Kim

Chang Bum Kim

Department of Mathematics West    Department of Mathematics Yonsei  
Virginia University Morgantown,    University Seoul, Korea  
W. V. 265 06, U. S. A.

**Abstract** We establish a characterization theorem for a nearly zero Boolean idempotent matrix.

**1. Introduction.** This is a continuation of three papers [8], [9] and [10]. A class of semigroups  $M_n\{0, 1\}$  considered in [5] and [11] is considered as a part of a class of fuzzy matrix semigroups  $M_n(F)$  (see [2], [3], [4]), where  $F$  is a finite set. A class of fuzzy matrix semigroups ([2], [3], [4]) is considered as a part of a class of Boolean matrix semigroups  $M_n(2^S)$  (see [8], [9], [10]) where  $S$  is an arbitrary set. Fuzzy matrix semigroups  $M_n(F)$  have their applications (see [6], [7]) in Mathematical Economics. In this paper we study nearly zero idempotent Boolean matrices (see Definition) in the semigroup  $M_n(2^S = K)$  of all Boolean matrices over  $K$ , where  $S$  is a set (see [8], [9], [10]).

### 2. Definition and theorem

We begin with a definition.

**Definition** Let  $S$  be a set and  $K=2^S$ . We denote by  $M_n(K)$  the semigroup (see [10]) of all  $n \times n$  Boolean matrices over  $K$ .

$A = (a_{ij})$  in  $M_n(K)$  is said to be a nearly zero Boolean idempotent matrix if  $AA = A$ ,  $a_{11} \neq \emptyset$  and  $a_{ii} = \emptyset$  for all  $i \geq 2$ , where  $\emptyset$  denotes the empty set.

We prove the following theorem which characterizes nearly zero Boolean idempotent matrices in  $M_n(K)$ .

**Theorem 1**  $A = (a_{ij})$  is a nearly zero Boolean idempotent matrix iff  $a_{11} \neq \emptyset$ ,  $a_{ij} = a_{11}a_{1j}$  for all  $i$  and  $j$ , and  $a_{i_1}a_{i_2} \cdots a_{i_r} = \emptyset$  for  $i \neq i_1$ .

\* AMS(1980) Subject classification. Primary 06E20, Secondary 16A32.

Key words: Nearly zero Boolean idempotent matrices.

Received Feb. 11, 1986. Communicated by L. C. Hsu (Dalian Institute of Technology).

One of two authors (Jin Bai Kim) presented this paper at the meeting of FIRST IFSA Congress, University of Palma de Mallorca, Spain, July 1, 1985.

**Proof** Suppose that the conditions hold for  $A$ . We show that  $A$  is a nearly zero idempotent matrix. The last condition implies that  $a_{ij}a_{ji} = \emptyset$  for  $i \neq j$ . Letting  $B = (b_{ij}) = AA$  we show that  $b_{ij} = a_{ij}$  for all  $i$  and  $j$ . We first see that  $b_{ij} = a_{ij}$  for all  $i$  and  $j$ . We first see that  $b_{11} = \sum_{t=1}^n a_{1t}a_{t1} = a_{11}a_{11} + a_{12}a_{21} + \dots + a_{1n}a_{n1} + \dots + a_{1n}a_{n1} = a_{11}a_{11} = a_{11}$  because  $a_{1k}a_{k1} = \emptyset$  for  $k \neq 1$ . The condition  $a_{ij} = a_{i1}a_{1j}$  implies that  $a_{1j} = a_{11}a_{1j}$  ( $j \geq 2$ ) and hence  $a_{1j}$  is a subset of  $a_{11}$ . Similarly, we have that  $a_{j1}$  is a subset of  $a_{11}$  ( $j \geq 2$ ). Thus we can see that  $b_{1j} = \sum_{t=1}^n a_{1t}a_{tj} = a_{11}a_{1j} + a_{12}a_{2j} + \dots + a_{1n}a_{nj} = a_{1j} + a_{12}a_{21}a_{1j} + \dots + a_{1n}a_{n1}a_{1j} = a_{1j}$  because  $a_{1u}a_{u1} = \emptyset$  ( $u \geq 2$ ). Similarly, we can prove that  $b_{j1} = a_{j1}$  for all  $j \geq 2$ . We now show that  $b_{ij} = a_{ij}$  for all  $i$  and  $j$  greater than 1.

We see that  $b_{ij} = \sum_{t=1}^n a_{it}a_{tj} = a_{ij} + \sum_{t=2}^n a_{it}a_{tj} = a_{ij} + \sum_{t=2}^n a_{i1}a_{1t}a_{t1}a_{1j} = a_{ij}$  because  $a_{ij} = a_{i1}a_{1j}$  and  $a_{1t}a_{t1} = a_{11}a_{1t} = \emptyset$  for  $t > 1$ . Thus we have proved that  $b_{ij} = a_{ij}$  for all  $i$  and  $j$ . (We note that  $a_{ii} = a_{i1}a_{1i} = \emptyset$  for  $i > 1$ .) We have that  $A$  is a nearly zero Boolean idempotent matrix. Conversely we assume that  $A$  is a nearly zero

idempotent matrix. For  $k > 1$ , we have that  $\emptyset = a_{kk} = \sum_{t=1}^n a_{kt}a_{tk}$  and hence  $a_{kt}a_{tk} = \emptyset$  for all  $t$  and  $k > 1$ . From  $A^k = A$ , it is not difficult to show that, for  $i \neq t_1, a_{i1}a_{1t_1} \dots a_{t_{k-1}t_{k-1}}a_{t_{k-1}i} = \emptyset$  which is a term of  $a_{ii} = \sum_{k=1}^n \dots \sum_{t_2} \sum_{t_1} a_{it_1} a_{t_1t_2} \dots a_{t_{k-1}t_k} a_{t_k i}$ . (1) It is clear that  $a_{11} = a_{11}a_{11}$  and  $a_{ii} = a_{i1}a_{1i}$  for  $i > 1$ . We show that  $a_{ij} = a_{ij}a_{1j}$  for  $i \geq 2, j \geq 2$ , in several steps. We define  $a_{ij}(2) = \sum_{t=1}^n a_{it}a_{tj}$  and  $a_{ij}(2:t) = a_{it}a_{tj}$ . Then we see that  $a_{ij}(2:s) = \emptyset$  for  $s \in \{i, j\}$ . We know that  $a_{ij}(2:1) = a_{i1}a_{1j}$  is to be proven. Thus we may say that  $a_{ij}(2)$  has  $(n-3)$  terms to be considered. Letting  $k \neq 1$ , we assume that  $a_{ij}(2:k)$  is one of  $(n-3)$  terms of  $a_{ij}(2)$ . We shall show that  $a_{ij}(2:k) = \emptyset$ , which showing that  $a_{ij} = a_{i1}a_{1j}$ . (2) We define  $a_{ij}(3) =$

$\sum_{t=1}^t a_{ik}a_{kt}a_{tj}$  and  $a_{ij}(m) = \sum_{t_m=2}^t \dots \sum_{t_2} \sum_{t_1} a_{ik}a_{t_1t_2} \dots a_{t_{m-1}t_m}a_{t_mj}$  for  $m > 3$ . We can see that  $a_{ij}(3)$  has  $(n-3)$  terms because  $a_{ij}(3:s) = a_{ik}a_{ks}a_{sj} = \emptyset$  for all  $s$  in  $\{i, k, j\}$ . We denote  $\{i, j, k\}$  by  $T(3)$ . Inductively we assume that  $(m-3)a_{ij}(m-1) = \sum_{t_{m-3}} \dots \sum_{t_3} \sum_{t_2} a_{ik}a_{k t_3} a_{t_3 t_2} \dots a_{t_{m-1} t_m}$  has  $(n-3)(n-4) \dots (n-m+1)$  terms to be considered. We show that  $a_{ij}(m)$  has  $(n-3)(n-4) \dots (n-m)$  terms (to be considered). (3) To prove this we define  $a_{ij}(m; k_1, k_2, \dots, k_{m-3}, t) = a_{ik}a_{k k_1} a_{k_1 k_2} \dots a_{k_{m-3} t} a_{tj}$  and a set  $T(m) = \{i, k, k_1, \dots, k_{m-3}, j\}$ . We can prove that the cardinality  $|T(m)|$  of the  $T(m)$  is equal to

$m$ , that is,  $|\mathbb{T}(m)| = m$ . It is trivial to show that  $a_{ij}(m; k_1, k_2, \dots, k_{m-3}, s)$  for  $s \in \mathbb{T}(m)$ . Thus we have proved that  $a_{ij}(m)$  has  $(n-3)(n-4)\dots(n-m)$  terms. (1) We can have  $m=n$ ,  $a_{ij}(m) = \emptyset$  and consequently we have  $a_{ij}(2; k) = \emptyset$ . Thus we have  $a_{ij} = a_{i1}a_{1j}$  for  $i \neq 1 \neq j$ . (If  $n=2$  or  $n=3$  then we can prove that  $a_{ij} = a_{i1}a_{1j}$ .)

(5) For  $k \neq 1$  we can see that  $a_{1k} = \sum_{t=1}^n a_{1t}a_{tk} = a_{11}a_{1k}$  because  $a_{1t}a_{tk} = a_{1t}a_{11}a_{1k} = \emptyset$  ( $t \neq 1$ ). Similarly, we have  $a_{k1} = a_{k1}a_{11}$ . This proves the theorem.

### 3. An Additional Theorem.

We shall prove the following theorem.

**Theorem 2** Let  $A = (a_{ij}) \in M_n(\mathbb{K})$  and assume that  $a_{ii} \neq \emptyset$  for  $i \leq k_0$  and  $a_{ii} = \emptyset$  for  $i > k_0$ , where  $k_0$  is a positive integer such that  $2 \leq k_0 < n$ . Then  $A$  is an idempotent matrix iff  $a_{ij} = \sum_{t=1}^{k_0} a_{it}a_{tj}$  and  $a_{i_1}a_{i_2} \dots a_{i_n} \subseteq a_{ij}$  for all  $i$  and  $j$ .

**Proof** Suppose that the condition holds for  $A$ . Letting  $AA = B (b_{ij})$  we show that  $b_{ij} = a_{ij}$ . We can see that  $b_{ij} = \sum_{t=1}^n a_{it}a_{tj} = \sum_{t=1}^{k_0} a_{it}a_{tj} + \sum_{t \neq k_0+1}^n a_{it}a_{tj} = a_{ij} + \sum_{t=k_0+1}^n a_{it}a_{tj} = a_{ij}$

since  $\sum_{t=k_0+1}^n a_{it}a_{tj} \subseteq a_{ij}$ . Thus we have that  $a_{ij} = b_{ij}$ . Conversely we show that if

$A$  is an idempotent then  $a_{ij} = \sum_{t=1}^{k_0} a_{it}a_{tj}$  and  $a_{i_1}a_{i_2} \dots a_{i_n} \subseteq a_{ij}$  for all  $i$  and  $j$ . We

assume that  $A$  is an idempotent matrix. Then  $AA \dots A = A^{m+1} = A$ , from which

we obtain that  $a_{i_1}a_{i_2} \dots a_{i_n} \subseteq a_{ij}$ . We show that  $a_{ij} = \sum_{t=1}^{k_0} a_{it}a_{tj}$ . We can see that

$a_{kk} = \sum_{t=1}^n a_{kt}a_{tk} = \sum_{i=1}^{k_0} a_{kt}a_{tk} + \sum_{t=k_0+1}^n a_{kt}a_{tk} = \sum_{t=1}^{k_0} a_{kt}a_{tk}$  since  $a_{kt}a_{tk} = a_{tk}a_{kt} = \emptyset$  for  $t > k_0$ . We define

$a_{ij}(2) = \sum_{t=1}^n a_{it}a_{tj}$  and  $a_{ij}(2; t) = a_{it}a_{tj}$  as a function of  $t$  as well as a term of  $a_{ij}(2)$ .

(1) Let  $a_{ij}(2; k) = a_{ik}a_{kj}$  for  $k > k_0$  and  $i \neq j$ . We shall show that  $a_{ij}(2; k)$

is a subset of  $\sum_{t=1}^{k_0} a_{it}a_{tj}$  in several steps. We note that  $a_{ij}(3; k) = a_{ik}(\sum_{t=1}^n a_{kt}a_{tj})$

has  $n-1$  terms to be considered because  $a_{ik}a_{kk}a_{kj} = a_{ij}(3; k, k) = \emptyset$ . We define

$a_{ij}(m; k_1, k_2, \dots, k_{m-3}) = a_{ik_1}a_{k_1k_2} \dots a_{k_{m-4}k_{m-3}} (\sum_{t=1}^n a_{k_{m-3}t}a_{tj})$  assuming that  $a_{ij}(m-1; k_1,$

$k_2, \dots, k_{m-4}) = a_{ik_1}a_{k_1k_2} \dots a_{k_{m-5}k_{m-4}} (\sum_{t=1}^n a_{k_{m-4}t}a_{tj})$  has  $(n-(m-3))$  terms to be consi-

dered. (This means that the set  $\{k_1, k_2, \dots, k_{m-4}\}$  has the cardinality  $m-4$  and each  $s$  in  $\{k_1, k_2, \dots, k_{m-4}\}$  is greater than  $k_0$ .)

(2) We prove that  $a_{ij}(m; k_1, k_2, \dots, k_{m-3})$  has  $(n-(m-2))$  terms to be

considered. (We note that for a case  $m=4$  a proof is simple and hence we assume that  $m \geq 4$ .) To prove it we define  $a_{ij}(m: k_1, k_2, \dots, k_{m-3}, t) = a_{ik} a_{kk_1} a_{k_1 k_2} \dots a_{k_{m-3} i} a_{tj}$  as a function of  $t$  as well as a term of  $a_{ij}(m: k_1, k_2, \dots, k_{m-3})$ . It is clear that  $a_{ij}(m: k_1, k_2, \dots, k_{m-3}, s) = \emptyset$  for  $s$  in  $\{k, k_1, k_2, \dots, k_{m-3}\}$  which has the cardinality  $m-2$  because of the assumption on the set in (1). Thus we have shown that  $a_{ij}(m: k_1, k_2, \dots, k_{m-3})$  has  $(n - (m-2))$  terms to be considered.

(3) We know that  $a_{i_1} a_{i_1 i_2} \dots a_{i_{m-2}} \subseteq a_{ij}$  and hence  $a_{ik} \left( \sum_{t=1}^{k_0} a_{kt} a_{tj} \right) \subseteq \sum_{t=1}^{k_0} a_{it} a_{tj}$ . There-

fore when we take out terms  $a_{ik} \left( \sum_{t=1}^{k_0} a_{kt} a_{tj} \right)$  from our counting we may say

that  $a_{ij}(3: k)$  has  $n - (k_0 + 1)$  terms to be considered. Similarly, we can say that  $a_{ij}(m: k_1, k_2, \dots, k_{m-3})$  has  $(n - (k_0 + m - 2))$  terms to be considered. If  $n - (k_0 + m - 2) = 0$  then there are no terms of  $a_{ij}(m: k_1, k_2, \dots, k_{m-3})$  to be considered.

(4) We conclude that  $a_{ij}(2: k)$  is a subset of  $\sum_{t=1}^{k_0} a_{it} a_{tj k_0}$  from (1), (2)

and (3). Thus we have proved that  $a_{ij} = \sum_{t=1}^{k_0} a_{it} a_{tj}$ . This proves the theorem.

We state the following

**Proposition** Let  $A = (a_{ij}) \in M_n(\mathbf{K})$ . If  $A$  is an idempotent matrix and  $a_{ii} = \emptyset$  for all  $i$ , then  $a_{ij} = \emptyset$  for all  $i$  and  $j$ .

A technique of the proof of the proposition is similar to that of the proof of Theorem 1 and we omit the proof.

## References

- [1] P. R. Halmos, Lectures on Boolean Algebras, Van Nostrand, Princeton, N. J., 1963.
- [2] Jin Bai Kim, A certain matrix semigroup, *Mathematica Japonica* 22-5(1975), 519-522. MR 58-960.
- [3] ....., Note on the semigroup of fuzzy matrices, *J. Korean Math. Soc.*, 16-1(1979), 1-7. MR 80g-15025.
- [4] ....., Idempotents and inverses in fuzzy matrices, *Bulletin of Malaysian Math. Soc.*, 6-2(1983), 57-61.
- [5] ....., Tables of D classes in the semigroup B of the binary relations on a set X with n elements, *Bulletin of the Korean Math. Soc.*, 20-1(1983), 9-13.
- [6] ....., Fuzzy rational choice functions, *Fuzzy Sets and Systems*, 10(1983), 37-43. MR 84g-30013
- [7] ....., On final choice functions, *Economics Letters* 14(1984), 143-148.
- [8] ....., Inverses of Boolean matrices, *Bulletin of the Institute of Mathematics, Academia Sinica* 12-2(1984), 125-128.
- [9] ....., A note about Boolean matrices, *Bulletin of the Institute of Mathematics, Academia Sinica* 13-3(1985), 231-235.
- [10] ....., Inverses of Boolean matrices, *Journal of Mathematical Research and Exposition* 5-3(1985), 11-13.
- [11] D. E. Rutherford, Inverses of Boolean matrices, *Proc. Glasgow Math. Assoc.* 6(1963), 48-53.